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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]

VO A o e
[VWJV m}W N \Af\/Jw F WY U\\*\

100 l

200

I R, .

0 25 50 75 100 125 150 175

30.0 1 W\/\/—\ — T .
07 5 W ——  Topt |

NI~ T

25.0

22.5 N\

|
N

15.0

—_—

12.5

0 75 100 125 150 175

80 N — RH |
ﬂ : ———  RHopt

I

I

70

60 e n \ H T

T W
LW

0 25 50 75 100 125 150 175

1750

nA A [\-AA - E::ém |
N\

1500

1250
1000 / A [
750 A
500 ﬂr\j
250

3.0

)

—_——
"]

0 B S
<

- — LAl |

2.5

2.0

\

i m-------------.\____.-__
~

1.5

1.0 /
0.5

\

0 75 100 125 150 175

|
I\A —— optEtRate
\

A
VAT R )

§
|

N~

nl\/k\ I
TN

0.6

0.4
I

o

[e0)

—
—

e, —
——
L ——

o
N
(3]
ol
o

75 100 125 150 175



250

200

150

100

50

Plot [['setVl ETcl’, 'setVl fgRec’', ’'setVI_VN', ’'slISetVI']]
’\ |
[ A
1
—0 O 1
1
/ \ -cm.F 8 ae=2 o o
1 _ 4‘ \ /8 2 & o 4
- o’z'm..wn‘ o |
1
- 1
. —0— setVI_ETcl —0-0-0-0-0-0-0-0-0~
- —0— setVI_fgRec \/ \ :
—0-8-0-8-¢- —0— setVI_VN |
a= —0— slSetVl 1 !
' 1
0 10 20 30 40 5




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

709 —o— PHO
6.8 1
6.6
@ @ @ @ @

6.4
6.2

Warning: col ['FVOPH' ] is missing
6.0

34 36 38 40 42 44 46




Trend plot forP3-7_0
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P3-7

BrE) | GEBAK (3 | ERE (EH/R) (XS R

05:50 273 130.0 (Z=| {Ri%@05:50 Bz (FEAHERHSE)
06:45 273 130.0 |Z=| 1BRi&e06:45 Bzh (REERSE)
08:20 273 130.0 & 1RiRe08:20 B (KRRAERE)
09:50 273 130.0 F  1BRi&@09:50 Bz (RAERE)
10:55 273 130.0 5| {Ri%@10:55 B3 (GRAERSE)
11:45 273 130.0 5| Rike11:45 Bz (GREAERS)
12:30 273 130.0 E BRige12:30 Bz (GRAERESE)
13:15 273 130.0 5| {Ri%e13:15 Bz (GRAERSE)
14:00 273 130.0 =l RRiB014:00 B (RFAEEE)
14:50 273 130.0 E BRige14:50 Bz (GRAEREE)
15:50 273 130.0 |Z=| 1BRige15:50 Bzh (REERESE)
23+ 3003.0 (11%) 1430.0 3 3HKEC: 2080.0, PH: 6.0

LOREBIRTC (273) 57 (241. 0) A°FF, Wt TS BRIERSEXIER
PRINKPRIEBRE147.0 ml.

REREEBIEC (2635.0) 5iZEEC (2000.0) REK K, HHE
HEEKRECE (2635.0 vs 3820.0) RS



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=45 (2025-05-13)

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2112
100 - 1760 1700 H764 [ 2000
1500
067
50 - 10 - 1000
60 60
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
200 4 FRV —— ME §30.0
maxM
150 A -27.5
100 4 F25.0
50 -22.5
1.0 20.0
1
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0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @47 14:43: ET=1144 Fg=1300.0 Ro=198.0 : t
200 ~ : - 2000
1
1
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100 - - 1000
0 p—— - 0
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1 - 2000
200 1 ByEt @45 19:10: ET=1156 Fg=1800.0 Ro=nan & o e o
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100 - - 1000
b ———&— —— 1
0_::::iE::l]i“::z;*—‘%gz;—ﬁi-““‘ \\\\\\T—‘————___AAA_______ﬁ 0
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1 - 2000
200 1 ByWoFv @D47 14:43: ET=1067 Fg=1430.0 Ro=337.0 :
S & © @ —~= =ﬁ,44=
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1.0_::::it::l]i“lig;*'ési — @ \\\\\“‘ah_ L .
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1500 — | N
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|
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cumET (ml/plant)
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P3-7

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R

07:25 273 130.0 |Z=| 1BRi&e07:25 Bzh (REERSE)
08:20 273 130.0 [Z=| {Ri%e08:20 Bz (KA
09:50 273 130.0 FA| 1BRi&@09:50 Bz (KAFEREE)
11:10 273 130.0 FA| 1Ri&e11:10 Bl (RFAFERER)
12:05 273 130.0 FA| {Ri%@12:05 Bz (GRAEREE)
13:00 273 130.0 FA| {Ri%e13:00 Bzh (kRAERESE)
13:55 273 130.0 PH| 1{Ri%e@13:55 Bz (RAERESE)
14:50 273 130.0 FA| 1Bi&@14:50 B3 (KRAHEREE)
16:05 273 130.0 FH| 1Bi&@16:05 Bzl (RAEREE)
2i3t[2457.0 (9%) 1170.0 3203 %EC: 2080.0, PH: 6.0

EREBRK (273) STREA (241. 0) R, FIREM T & WEIERS X XER

ZRINLPRIERE147.0 ml.

large discrepency for begining water status (129:288.0), set to 129 ml.

BEREBIEC (2610.0) HiZZEEC (2000.0) REK K, BHHE

#H[EHECE (2610.0 vs 3652.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=44 (2025-05-12)

------------------------------------------------------------------------------------- L 2000
VI, VOS8RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1760
100 41400 1500 470 L 1500 ©
-
45 60| 1000 \—E/
50 A
40 =
60 L 500 &
Warning: lcol [FVI',| "FVO’'] missing
04 0
200 4 FRV —— ME P30.0
150 - maxi 1 97 5
e A — —— S S S S I S A S E— —— L 25.0 )
- M L 90 5
o F20.0
' 4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
308 7 ' 4 2000
Bylnit @47 14:43: ET=1004 Fg=1170.0 Ro=168.0 : o
1 c
- 1500 &
200 - i <
1 - 1000 E
100 i
- 500 §
308: 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 _(2)000
PH | BB |Z=| BB | BB | FR | BH [ W5 | & | BH [ BA | FH [ BH | BFA | BA | BH | FA 5 i 5 5 & | BH | BH o~
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200 4 ByEt @44 19:09: ET=1150 Fg=1470. 0 Ro=nan & O: & ) & o - 1500 %’_
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1 >
I - 1000 E
100 - i i
: - 500 §
e - LD S
308— 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 _(2)000
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1 c
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I e & e e >
- 1000 E
100 A =
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1.0 . o — —— s S 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
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0.4 1
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m=440, FV0=0 m=500, FV0=0 m=565, FV0=0

o NE 23.0 o NE 24,2 o NE
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21.8 - 22.8 7 2401
i 23. 8 1
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21 . 4 N 23 6 _
22. 4
21.2
23. 4
21.0 1 22.2
T T T T T T T T T T T T T T T
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T T T T T T T T T T T T
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m=865,m FV0=0 m=930,m FV0=0 m=1000m FVO=0 m
—o— ME | 2427 —o— ME —o— ME 28
24. 4 24.0
24.0
24. 2 23.8 36 -
23.8
240‘ 236— 236_ 34_
23. 8 1 i 23. 4 1
23. 4 2
23.6 23.2 23.2
865 870 875 930 935 940 1000 1005 1010 400 600 800 1000
m=440,m FV0=0 m=500,m FV0=0 m=565,m FV0=0 m=655,m FV0=0
34.75 A
3301 _4 MW — M 36.00 1 _g MW 36.0 1 _q M
34. 50 - 35 75 4
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34. 25 1 35. 50 -
32.0
34.00 - 35. 25 -
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.51 33.75 4 35. 00
0 33.50 34.75 7 34.5 7
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m m m m
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P3-7

BfiE) | GEBIETK (D) | EHE (EH/R) | XK ERF

07:15 273 130.0 = RRige07:15 Bah (RAEESE)
08:15 273 130.0 & 1RiRe08:15 B (KREERE)
09:40 273 130.0 5| 1Ri%009:40 B CGREMERE)
10:45 273 130.0 5| {RiRe10:45 B (GREERSE)
11:45 273 130.0 5| Rike11:45 Bz (GREERS)
12:35 273 130.0 E BRige12:35 Bz CGRAERESE)
13:30 273 130.0 5| {Ri%e13:30 B3 (RAERSE)
14:40 273 130.0 = RRiB014:40 Bz (RFAEESE)
15:40 273 130.0 E BRi&e15:40 Bz CGRAERESE)
21t 2457.0 (90%) 1170.0 3203 %EC: 2080.0, PH: 6.0

EREBRK (273) S5TREA (241. 0) R FF, FIREM T & WEIERS X XER

ZRINLPRIERE147.0 ml.

REREEBIEC (2650.0) 5% TEEC (2000.0) REK K, HHE

##[EKECE (2650.0 vs 3578.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1

2

1

1

1.

400 1 Bylnit @D47 14:43: ET=1406 Fg=1680.0 Ro=405.0

P3-7_0, Day=43 (2025-05-11)

00 A

50 A

00 §
50 -
00 -

50 A

V1, V®®RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1700 1760

7404182
40

Warning: lcol [FVI',| "FVO’'] missing

0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=705, FV0=0
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